o lall dugiladl dual gl polosi] & aldme jbueno!
Q.il.“.ll g9l = Yo AV/Ye VT gl yall plall
(Gl Gl ) el o gl g gl : Bt
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. ko 2o ¥l e I e il o Sl

Gl ol R s oAl eeeee oo
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i (YA ) il Sl lnded 208 Tage ookl augilill dal yall olod! abomis hdno! S| g | gl y
ke (£) i Vudll wd Yt Gl ggall = Yo AV/¥ oY il yall olal
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Answer the following Questions:

(Ao ) 2aU01) ke glally Lis f guond| - Zalall i alid 2!y LS Bl e

n Choose one question of (A) or (B),
Replace the statement with suitable

scientific term:

a- Geologic time at which continents achieved

their present positions.

b- Tectonic movement responsible for the

formation of transform faults.

s AGY A e c

(&) 91 (1) Omdtauadt o § pit -

e

role JIAN alal allaael| LIS

4@ O OXE) oo gl g (e -]
ALY Lga L gl

e Lay g0 &0 9SS S0
AJLED ¢ 9o

ﬂChoose one question of (A) or (B) :

Choose the correct answer :

a- Sedimentary succession of paralled layers
divided into two parts by an erosional

surface. This is called

disconformity.
normal fault.

anticlinal fold.

®O06

angular unconformity.

nner core.
upper part of the mantle.
outer core.

b-

®
®
©
@

Earth’s crust.

[\

Convection currents are abundant in

1 (@) 9f (1) Cnttguadt T y25n0 -
+ dovouall Al Wi e

(i gozme gy 1S B Coutn g 13 -]
Leglady  (iilgin  Hgomuall (yo
........ (ot S 53 318 Ty 2l e
oelladil 38193 auc @
gale 3o @

cadse b @

$shaaspe (O

........ @M‘Qh‘jéw—g
oisarean (D
st e gstat st (D)
e 3

Ao yaaan ()
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n Choose one question of (A) or (B) and | (<) of (1) ot 3uudt dmf pisnt =¥
define it: e @

a- Zooplankton. . A gt Oladilgd )

b- Biosphere. (ST M| —
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n Study the given figure then answer the | (e co i @ I JSEI (uysl - £

following questions: s AT Al
®
3 % “’\“plk
O,J/\ =Y. A /\“\—L: ®
2/ Kﬁ/m ikﬁ—{‘nﬁ SN ml

a- Write the labels (1) & (4) ‘ (£) (V) Sbledt cas |

b- Mention the type of tectonic plate | aagsidl aS,=I1 g9 mdg-u

movement in the figure. ISt b Aad
c- Give an example for the structure no (3) (1) caS 51 e LS| d

v/ U.JLIJI JoaJl - d=salpoldalinl) A A auj
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ﬂMention the ways of adaptation of the | & 2 & joo 2oy cS) -0
following organisms: A SLAIST

a- Deep-water organisms. Ol ¥ Ol g
b- Fennec fox. it cdal —o
nWhat is meant by: Lelaialf e ML 3 gndatt Lo -1

Organized grazing.

n What would happen? s e Sty 13k -V
If wheat is planted in October and P5ST S el B medl! Ol ely)
November? PUPCPLP

ﬂ Justify: b Let Yo -A
Streak is a reliable property for mineral | icols e 5,08 Ay slaie
identification. Oalaadl Sle B paidl B el

5
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n Mention the similarities and differences

between:
Longitudinal dunes and coastal dunes.

(Ao ) 22U01) ke glally Lis 8 guond| - Zalall i lid 2!y LS Bl e

13830 -4

»
1000 US () QAN W g At dom g
cAds Ll OLasT g 5 g padd
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mChoose one questions of (A) or (B) and | : (<) i (1) ot dudt dsi i) -

compare between: 1 o (LB
a- Renewable resources, and non-renewable | ssasiell péd 5)lgellgdausiall sl gadl -
resources in terms of definition & examples. Legia JSI Jliag gl l Cum (po

b- Grazing in area of weeds and grazing in oo M golae ¥ Ehlie L3 e M1 -0
area of shrul?s and trees. In terms of its Sy Ol pumdd ! Gblie
effect on environment. ] e Al Can oy

m Mention the environmental factors that 1 5S31 -\
supported the flourishing of the plant | jlaayl 31 Cal G2 aded) cag Hat
cover during Carboniferous period. What | . 55,531 jaatt ;8 S5Ladi sliaall
are the resulted economic deposits that | g iadl walad3 ¥ g3l Loy
resulted under these conditions? Sty e
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m What is the importance of:
Water moving upward (upward currents)

P UPVINPRRE |
Souelalt LALad | O Ll

m Choose one question of (A) or (B) and
replace the sentence with suitable
scientific term:

a- Killing or hunting a group of animals to the
limit they become few and become unable
to reproduce.

b- Energy-producing natural matter formed
in Earth million years ago, and what used
from it cannot be compensated.

@ () 31 (1) oyt i 31 1Y
role JI elall zllaaalt HS3
1Sl g (30 B gasns s 3 35 -1
I ALE Lasle] 4dd e’ (G201t
SISyl le 5918 g
(20455 JUaLa SN AL Bancilo Bale
Oedle Mie o)1 (bl B
o 9a ¥ g dllgiu Loy (et
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mStudy the figure and answer the | ;e coied IET JSLaT Gyt -V §
questions: ; + AGY AL

a- Write the names of the structures (1) & (2) | Ot i ol S|
(Y (V) O 9 gt

b- What is the type of unconformity? why? | .ctiols| ywd §38190ane ¢ 95 Lo -0

Write the name of mineral based on the | JS Gle J1at Hdaed) mwl <GS| -\ 0

mentioned property. P OB (Ll (e 3)le
a- Salty taste. rgdbe Blie A (ias
b- Good basal cleavage. i Gueld pladi) A Huas o

CV/ 017 il ool - sz alpol) Elin) &5 nj



TV/YAY Gl plat - G g (Al 1 2801L) Bt gty L ol pnd - Gl g 0 L3 sl i

m Justify: 1k Let e -\ 1
Accumulation of economic phosphate deposits | a,sLaid ¥ clawsal! cuuls) @S1,3
in Egypt during the upper Cretaceous time. (S 3lall 6 piLIAT! ymall 3

m What are the results of: t oo A yledl AL Le -\ Y

Presen.ce of tension force between tWO | . 1oy s sl (o s $53 352 9
tectonic plates.

ﬁChoose The correct answer: s Avouall Aala W 5 -V A
Among geological effect of ground water: o>l gnd! Jadll altae eal ye

@ Water falls. coleatl dadlice @
@ Oxbow lakes. POV (AU { @
@ Stalactite, stalagmites .aelguatly daslggl @
@ scratches. P RPEUPN (PR PWEN { @
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mChoose one question of (A) or (B) and
replace sentence with suitable scientific
term:

a- zonein the upper mantle consists of partially
molten and elastic rocks that allow spread
of convection currents.

b- Crushed angular clasts associating faulting.

(i b1 4A00L) Ayl 8 g - olad L0 el 30 oS Bt i

1 (@) 9l (1) o5t i 250 -1 4

rle JIAN alal allaael| COS)

oo 9% gl Zedy Glas -
slacab C“‘““S dadle B Heo
cJadl Slalga

Ol dedigall jgduall (yo Olid -

.33 194l Comliad 3als B g

) Choose one question of (A) or (B) and
choose the correct answer:
a- Dolomite which found in Earth’s crust is

oneof ............ group
@ silicates
@ sulphates
@ carbonates
@ oxides

b- The main criterion in definition of mineral
that it is

metal
non-metal

liquid substance

®O06

crystallized substance

1 (@) 9f (1) 15t s § yX5 =Y 0
+ dooual | Aol Wi |

FFO:1 (P WY PSP ([CUPPN PR (PSP

........ AC pams (paid hnidn s W1
sisateatt (1)
ol ©
s,

(SN @

98 Ouaedl Cay pald k¥ BAN -0
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mChoose one question of (A) or (B) and | :adecaiy(0) oi (1) otiudt dai yisr Y
explain: NS

a- Sea level has a great importance. 15 S el g3 ol s (5 g -]
b- The faults differ from joints inspite of they o 68 1 a0 Gy 31120 Calind -
are fractures in the earth’s crust.

s 315 a0 8 1) uS Lagh oS

m What is the importance of ........ ? 1030 :;s Aiadi HS3 -YY
a- biogas. Sl gt
b- Feldspar. IR
12
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E Compare between: 1O (B - YY
Luster Play of color
G2 O o e
Definition |~
Qo paT | [
Example | e
TR |

m (Rhyolite — laminated mud) Two | (>aall (dall - Codaal 1) -YE

different rocks: mention: s olalizne O youo
a- properties of Rhyolite. S 501 s Olaw eal Lo -

b- How does the laminated mud (shale) form? § il ] 3t (39553 S o

13
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YAV/YAT Gl yad plad - L1 g (Al ¥ 1 AaUL) Aded | aglalfy Lis ol gomt | - dalad| & gl ! yud 1 aLa | algds yloial

m What would happen when? s e Sty 13Le - YO

Coral reefs grow near the shores. olnd | Gl g 058 Bl padl oladd| gad

m Explain: s pd - Y
Seawater keeps its characteristics unchanged

in spite of the organic wastes exerted by
marine organisms.

@Jﬁwmw!;hd&g
gz pd il Arguaall Gl

A il T OLSIST

14
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E Study the given figure then answer the | Lae coni @ SIEI1 JSEI Guyaf =YY

following questions: , an
% 1—1
a- What is the name of this feature? : REPCet (R RVNPUR PR
b- In which stage is it formed? IEEWPU PRVt ¢ TP IS

c- What is the shape of river sector in that e plad oisly g Ysid i Le ¢
stage? LFIESOR PRV -

d- Mention one reason of river rejuvenation? S b Gl asl ,850 -

15
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ﬂChoose one question of (A) or (B) and | :bL Les dald 5us1g (e ol - YA
mention: Slataciatiole o) o Sar-d

a- The reasons of overhunting animals. Aoy g A ) Sl gl
b- The bad effects of urban spreading, and | a3t meleudt - S¥1 S5 -0

how to face it. U Agar 190 Jilugg () peat!
m Replace the following statement with 1 olalt mllaiaedf COSY - Y4
suitable scientific term: O gl Dol Lgcd Ja1 5,00
Period in which the activity of the night Py

animals is reduced. o

16

v/ U.JLIJI JoaJl - d=salpoldalinl) ad A uj



TAV/YAS gty plall - g5 (g ¥ BA00) e stally i 8 gnd - a5 50 oL sl e

m Study the figure (soil profile) then answer | ¢liad, psgy Jslaalt JSady -v -
the questions: A (B il

Write what do the numbers (1) & (2) refer t0 | (v) (1) oyled 1 4t jds Lo S

and Describe them. | st ity Suaia

17
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m Choose one question of (A) or (B),
Replace sentence with a suitable
scientific term:

a- Adding water to the mineral composition
that cause chemical weathering.

b- Spits at the bays area and it may close
them to form a semiclosed marine area in
the form of a lake.

(Ao ¥ 2aU01) Ao glally Lis f guond| - Zalal| i lid sl o LS Bl e

15 (22) oF (1) ol 13 s it =YY
1ole JIAN elall allaael| OS]
et | CoS 5 S sladt A8l -
LleasS diygand e Jons Las
163 20950 Olomtadl dd aidi -o
B s IS (e Blae At Liile

What is the age estimate of rocks contain | gg=3 31 js5all joe Lo- Y'Y

a fossil of an oldest bird?

Sl AuBY A yas

m Choose the correct answer:
All these crystals have perpendicular axes
except the crystal of the system

@ Tetragonal
@ Orthorhombic
(©  Cubic

@ Triclinic

18
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YOV/YNT gl jud plal ) - (3L gl (A el W1 AR0L) At o gladly L oF gt — Aoladl a0 3L Ay aLaS | Balgds (ylonital

m What would happen when? s e Sty 130 - Y8
Mica subjects to breaking or pressure. daiiall of yuSUY ISial| yins (i pas
aJustify: b Let Je -Yo
Rhyolite differs from granite in spite of their | ey ceoi st e cod g1, Catisn
similarity in mineral composition. et LageS 53 dolis

E “Marine fish live at 120 m depth”. | Gee Ll Jicald 40 ou dASaw) =T
Based on this information, answer the s e VY
following questions: L AGY A e Ll 5yliatt 018 ¢ i (2

a- Calculate the pressure which the fish | zguniar o e gt daiat cos |
exposed to. O S i) Al | SIS Lo oy
b- W.hat. are the producers that could be found S Gantl 3 L5 Lgas un 1553
with it at his depth?

19
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m Choose a question of (A) or (B) and | :e2 (<) of (1) udtaudt doi pisnf =YV
mention the similarities and differences | o @MNEY1 d iy Al d> of IS
between:

a- Pumice & obsidian.
b- Breccias & conglomerate.

NC{ENVIPE (Pypor PUmL (B
A e gl 98T g Ldis » )~

m Explain briefly: ¢ bl by 75! YA
The destructive action of rain. e engl Jaall
20
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YOV/YNT gl jud plal ) - (3L gl (A el W1 ARUL) At o gladly L oF gt — Aoladl a0 3L Ay aLad| Balgds (ylonital

m “The temperature of lakes surface water | oLee 2 3,11 a2395 calise, - ¥4
changes according to the season” (o gad | AL O pmed |
discuss this sentence. | .;,Lat sia 230

m Write the number which expresses each | :i js Gle JIA @8, Casy - ¢

of the following: Gostt alta ¥l jol o e ]
a- Number of axes in hexagonal crystal RRRRY
system. )

‘_,3):.3‘ u:“""""‘c}' 83NN -

b- The hardness of streak plate.

21
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m Study the given figure and answer the questions: ‘ o @8 G SIS (upal - £ )

a- What is the name of this igneous texture? | o2 ¢ suall gl i gl Lo -

b- What is the type of rocks that is TayLdl Hgsall W
characterized by this texture and color tone? | '4é: jxeiz gl H3uall g g0 bs -
SOl @.u.’d‘
m Compare between: 10 (LB -8 Y

The primary and secondary seismic waves in | do¥1 ads it ) Zd 33531 Ol gall
terms of speed and propagation medium. PRV L1 (I EQ N {1 (X S I PPN [))
.JLd:dYtj Aoyl G Y

22
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TAV/YNY Gty plad - L]yl (Al 2801L) &gty i o gt~ SIS e 1 L3 5l i

m Justify: e -V
Formation of spheroidal shells on the surface | plaw e JSadt 49,8 ;58 (oS3
of granite. RPN |

m Choose the correct answer: ¢ Aovoall Aala I Sl - ¢
The highest energy level of foodisin ........ | ... ETIRHIL T USIPICPRR TS IPEe
(@) Fish st (D
@ Crustaceans. R PPwA-1 { @
@ Phytoplankton. LAGLA Ol @
@ Protozoa. G gt | OLS Y| @

ﬂ Choose one question of (A) or (B) and | : (o) 91 (1) (st t dsi i) -8 0

mention what would happen: sl ooy 13l
a- Bending layers with younger ones in the | cusy Sladall b sLi) &g -
center. L3S padt 8 Lghus (19
b- Rocks affected by two normal faults | jusle Gu@tles Hssuall 5b-o
sharing the same foot wall. NP (N PS [YERRE TOINPSA
23
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